QUESTION BOOKLET SERIES A SUBJECT CODE XXO 1

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and the

Answer Sheet before commencement of the test.
The duration of the test is X Hour. There are 15 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains X Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked on
the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding to
(A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use your
best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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PART-I
(Questions 1 — 05)

. The boys were walking the road.
A. after B. into
C. along D. beside

?;[CIT{FC"‘I & HHGIR & BT T AW 8?2 / What is the name of the weak zone of the earth’s
crust?

A. YU / Seismic B. @IS / Cosmic
C. q’ﬂﬁ?ﬁ/ Formic D. ‘Fﬂﬁ@/ Anaemic
. 3751 AR g. 132 {1 91 1 81T / Today it is Thursday. After 132 days, it will be:
A. 9IdR / Monday B. XfddR / Sunday
C. §YdIR / Wednesday D. ¥dRR / Thursday

. U Hi Bl IF 39S o VS 31 TS 20 9 U, A & I 9 B 3T F 10 A1 o, Y A
DI IAHH IY FAT8? / A mother is twice as old as her son. If 20 years ago, the age of
the mother was 10 times the age of the son, what is the present age of the mother?
A.38TY /38 years B.40dY / 40 years

C.43a4 /43 years D. 45 9% / 45 years

/A 1,2,3,10, T AT HeR HH-T 3T =LY /
Which number should come next in the series 1, 2, 3, 10,
A 79 B. 99

C. 89 D. 98
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PART-II
(Questions 6 — 15)

6. 3MUBIH TTH YT B & 1T, T U+t bl DA MY /
To get the most profit, a company should:
A. T UT§P Tl UG / Provide little customer service
B. 3= 3l ¢Td Ul / Provide high production costs
C. gIdH 's’%—cf[ fA3%1 UGM / Provide the lowest inventory investment
D. I=aq faeRuI ©iFTd UG / Provide the highest distribution costs

7. 3R 3 AT & S Sreft TS AT O WY St a1 gedt ] 1/
and are costs that increase or decrease with the quantity sold.
A U& 4H, 3T AT / Direct labor, indirect material
B. Y&l 4H, e ITHU / Direct labor, direct material
C. 3UYE 4H, U U / Indirect labor, indirect material
D. UIE 4H, Ude ITHA / Indirect labor, direct material

8. Y 3R IATS TS 3R a1 Yurelt & Srafaae 3R R Trur &1 ufafa

H gl / Purchasing and represent the implementation and control phase of the

production planning and control system.

A. 3dTe Tafafe g (EﬂGﬁ) / production activity control (PAC)

B. I TaRTHdl TSI (Qﬂ&m / material requirements planning (MRP)
C. SRC-Z9-T13H (SIS / just-in-time (JIT)

D. HIh1eT / marketing

9. ___ AIdieRul H, %3 3ifaH g TS sirgeH gfarct gesdl SR SU-Sriael & Hale
TR A IBAI Sl /In_____ environment, many end items can be made from
combinations of basic components and subassemblies.

A. ﬁ?ﬁ—i—@vﬁ/ make-to-stock B. ﬁiﬁ—g—&lﬁ/ make-to-order
C. &@W—Q—Gﬁ@k/ assembly-to-order D. W—Q—&ﬁ?/ engineer-to-order
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10. EOQUE& A ufia oval & o R Big AFTd 3IR 3-d¢t o I &t AT BT
WWW@W%I / EOQ is a formula that determines the _ at which the
combination of procurement costs and inventory carrying costs are the least.

A. TJUIddl / quality B. ©II¥Td / cost
C. dIH / profit D. HIAT / quantity

11. Fafafed & 3 fog ameit o sifteay T 82 / Which of the following materials has

maximum ductility?
A. T1EeS WId / Mild steel B. BIR / Copper
C. M d / Nickel D. T / Aluminium

12. GOl AIE (PRC 3HTRH) T BTe 1 Ufawrd = @ %1 9 911 §: / The percentage of
carbon in cast iron varies from:

A.0.1¥05/0.1t00.5 B.05¥1/05t01
C.191/1t017 D.1.7945/17t045

13. Frgfafad & 9 SH-1 SSifAafeT It &1 ored T8t 82 / Which of the following is NOT
a property of engineering materials?

A. Wwaﬁ/ Mechanical properties B. WTCIWEUT?FV[/ Chemical properties
C. dg=UdTl / Polymorphism D. ﬁ?{ﬁﬂﬂmﬂﬁ/ Electrical properties

14, ProfRiid 3 2 - RS sard & b SRR seyaiT & e Ugel &1 SR
JUIRT R} T T ST 82 / Which of the following attributes explain why pure metals
are NOT frequently used in engineering applications?

A. EIO:TJ:IFIHT / Softness B. $&IXdT / Hardness
C. HYXdT / Brittleness D. dH® / Lustre

15. YR ST YATRY d-Id mw_ 81/ The elastic stress strain behavior of rubber

is:

A. TG / Linear B. 3R / Nonlinear

C. WIRe® / Plastic D. I AfYd Ty T8t / No fixed
relationship
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Rough Work
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